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A Method of Improving the Control Chart

Student : Chou Tzu-Chien Advisor : Dr. Nan-Fu Peng

Institute of Statistics
National Chiao Tung University

ABSTRACT

We verify the method that improves_the-control chart. We reorder sample data
by values of itself plus a fixed=multiple of its time order. In the new sequence,
we can find the negative correlation-between the-neighboring two sample points.
We apply the characteristic to the‘control chart then we can construct a
non-traditional control chart. Because the negative correlation reduces the
variance, the risk of type Il error will be lower under the similar risk of type |
error and the power will increase. We are able to detect the variation of process
before making more defectives and improve the process. Therefore, our control
chart achieves requirement for the customer and promotes company’s

competitive power.

Keyword: control chart, negative correlation
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,J‘

t+jd>20
20—t
d

=j>
?yMﬁ%jﬁjﬂ,jf{%?}
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%21 d0.33.0 FL0.1:f, . (s1)

d [f(X. X)) d [FOGEx]d sy FO )| d | f (X x.,)
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0.9 10.999787 | 1.6 | 0.999877 | 2.3 | 0.999886 | 3.0 | 0.999886

HGEF (D ezt 3 (3) » A7 B B3 B Ap AR ff A TR AR 1R - B o

ARATHOLRIEE > TRFRAREEGER S L DL o



2.3 § Ap B
NP A A RS BRES R B f 4P M (negative correlation) s
A A SRR | 7 oov(X,0,) <0 o KT SR B A T

X Avbid 5 R @RIy, o Ty 45 R X 0 T @S

-

- EETaR A TR X 0§ B ARiE ~ 8 R AL (steady state)pF 0 xR AR A F A
AERE X fex B f AR FMRE i ER TR -

Bl R T Bem % e B

Var(lerX2 ;WH J ZVar :lVar(Xl) (4)

Freo- BRATHEX > PREI B TR i o7

Var(xll"‘xé +"'+X%J=$ Zm:Var(xi’)+ZZm:iCov(Xi',X})
i=1

m iS1=1
:—[Var )+2(m-1)Cov (X, X.,)+2(M=2)Cov(x, X/, )+ | (5)
H P Cov(x,X,,)=E(X X, )—E(X)E(X,)= X))~ E(X ]2 » F]15 X ~N(01) >

B Cov(X )= E(X-K,) T B3+ Cov(x.x,)= E(-x.,)~E(x)E(x,)

(X K,) 0 B4R E RS T e iR Y R g

el e fox, ik @B BRI e o AT ILE(X ) =[] stf . (s,t)dsclt -
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%2-3 di€ 0.3813.0 FrE £ 0.1 hE(X-X,)

d E(X X|+1) d E(X X|+1) d E(X X|+1) d E(X X|+1)

0.3 | -0.04156 | 1.0 | -0.0802 | 1.7 | -0.05316 | 2.4 | -0.01601
0.4 | -0.05166 | 1.1 | -0.07919 | 1.8 | -0.04685 | 2.5 | -0.0127
0.5 | -0.06063 | 1.2 | -0.07715 | 1.9 | -0.04064 | 2.6 | -0.00993
0.6 | -0.06786 | 1.3 | -0.07424 | 2.0 | -0.03483 | 2.7 | -0.00764
0.7 | -0.07326 | 1.4 | -0.06967 | 2.1 | -0.0293 | 2.8 | -0.00581
0.8 | -0.07753 | 1.5 | -0.06472 | 2.2 | -0.02436 | 2.9 | -0.00436
0.9 | -0.07911 | 1.6 | -0.05924 | 2.3 | -0.01991 | 3.0 | -0.00317

£2-3¢ » 7 4 01d=01i » i=345,30 » AT A K fox, TP ¥

B3R f o E(X-X.,,)<0=Cov(x,X,)<0H ¢ 11d=10" E(XX,)=-0.0802

i N+l

P

ool o4 A A ) R B 10 s i -

% 2-4 d 5.0.3 3 3.0 B 0.1 HE(XX,,)

d E(X X|+2) d E(X X|+2) d E(X X|+2) d E(X X|+2)

0.3 | -0.03193 | 1.0 | 0.014838 | 1.7 | 0.045221 | 2.4 | 0.016127
04 | -0.0348 |1.1| 0.025756 | 1.8 | 0.041853 | 2.5 | 0.012912
0.5 | -0.03345 | 1.2 | 0.034875 | 1.9 | 0.037678 | 2.6 | 0.010186
0.6 | -0.02806 | 1.3 | 0.041661 | 2.0 | 0.0331 | 2.7 | 0.007925
0.7 | -0.01957 | 1.4 | 0.045907 | 2.1 | 0.028448 | 2.8 | 0.006084
0.8 | -0.00889 | 1.5 | 0.047696 | 2.2 | 0.023967 | 2.9 | 0.004612
0.9 | 0.002948 | 1.6 | 0.047326 | 2.3 | 0.019827 | 3.0 | 0.003453

gl

ﬁ-"ﬁf\lfgd“ﬁ‘b‘B:Ef‘ (X -X.,) ”stf . (st)dsdt » & 2-4 ¢ > ¥ 5
d=01 > i=9101L-30 » ¥ Fg— Bk & FTAenx fox Bk E L <30
% > E(X-X.,)>0=Cov(X,X,)>0 o ¥ 12 BT o § xfox, L2 fARM -

2x X, 25 AAEM o RIXfox, € F 240 (B 2-6) -
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i+1

A AR AR S FALP f AR B REend =1.0 ePpF IR > LR X X, i

¥
7N

0.0802>> 0.0148 =|Cov (X, X, )| » +

(X, %) =

i1 Ni+2

Cov(X,X,,)=E(X-X.,)=0.0148 >

FREPEHER R S A TR OB R AR - B AT
5.4 507 5 ARG fE A TR SRR T - B AT RS A
A R A x s R HiE g b RUELARE T Ap 5 e0hE Thgt §
Ao Bt AP g B R R A RE ik ¥ 8 oo X Var(X)=Var(x)

FRENAT (5 R ()

Var(x1+x2:n...+xm]z%\/ar )+ [2 (m-1)Cov(x,X.;)+2(m—2)Cov(x,X,,)]

<Var(x1+x2+~-+xm] 1

-2V

- ~ ar(x,)

blde i m=3

var K| Svar () + 3 400w 1, )+ 2Cov(, %)

:0.236<1:Var(%]
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5on ,A%szz,a 10 0 €45 BERECE A S o
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HIE ~ Y Y Y TR SRR R A e 0 T -

! ! ’
, X101+40(k—1) * Xiooao-gy T F X100+m+40(k—1)
W = ’

mk

HFA o KHHT T L@ EIn B, B 1P 0 B EE

1 S / —r \2 H ¢ o 1 - /
Z(Wm,k _Wm) TS Wi :_zwm,k °
n1 _1 k=1 n1 k=1

%5,92?2; ~dH0.1%3.05RFME£0.10E°d=030405,--,3.02 % 001

005 ) ﬁ{%ﬁl%# _?L-)-br%’/:‘ °
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B 3-1 W, ek & TR L g
RN } (n-100)] . . .
4 g4 E n=10" » n = floor | 0, % (n-100)/40 B~ E FiT

pEPBEARE 0 4 L B B 100 B R AL G S e 8RR

(steady state) » 1% & FHL A€ ATH A 14+ F

ys

X E’—j—;%::giﬁ}'—l K<J- ﬁ—mP

’ 2

S enF L s Bk

—\\

Pzl on 2 §F i o L2
A BEEE NGRS 2 BIHER T g S gt N
FEmBETTHE - Bw o Efd3 Em i@;,i.};,%—i ) & w2z R
BrE 30 Bt wiApips » 3648 B P X EF R R AR A
Bom B iTL 35wz R Borurbdic o
3. 1.2 xR ik

FE =l E s R RamP b dad B AT E Y
BIhx ¥R HE» > 24T

L BT ERRE T BT PO

i

B AT, x FIRE B IR (40-2m) B X R

Pt

! ’ ’
, X101+40(k—1) + Xioaaok-gy T F X100+m+40(k—l)
m

[ ’ 1
X101+ m-+40(k-1 +X102+m+40(k71) o+ Xigos2m0(k-1
W, = +m-+40(k-1) ram+40(k-1) k=12n o
m
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K= AT T LTI Bw,, Efow,,, B I* pton BEE
COV(\le'W ) z mik m2k
1 k=1

ol 320 F Bw,, fow,, 2 FILF M L - “l‘:E‘(Wr’n,l,k’Wr,n,z,k);FKi

U200 RE B o
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3.2 Bl P
SE 3.1 & el A8 TP R 232 (central limit theorem)
2
5] S2 sVar(w,) > R 4etk & B A% R Hicvar (w,) :% O O RES: N gt

P HAe LB AR 2 3 B E IR AR R 0 S RS

var(w,) » 3+ & ! ratio=- » SR ratio 5 Bk 0S? o T S g B iR

SR S d e d PR B KA 31T I N Am=2 0 d=10F

1 <

2 *
S; =0.458869 4 _# -] e71%¢ B #c v ratio= 2 =0.082262 5 B~ > P3P d =1.0

N -
w

PR HTRCEER S 2 6 TR B 8. 23% 0 SRR A 3-20 A PR

FHRAHZmMAS Y > SHqevar(w,) 0k TR 5 S2<var(w,) 0 H ¥
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1 N i 1 ShN s )
Z(W'l*"k _Wf,")z :%+_ ZZZCOV(X{oowX{omj) BERREE Y Y
i1 L

j#i

3

2
o)

2

)<O - AGBE RS @I HNFHRT 1 KPR He ¥ Bk end B

S E e bldrm=2 > S2=0.458869<05=— ° ¥ MUK FE® 2 X N 4p M

Cov (X, X

17 N+l

MPgR 5 B o

#3-1 m=2 2k diEs%R #ic

d S; d S; d S; d S;
0.01 |0.499779 0.7 0.463534 1.5 0.46717 2.3 0.490522
0.05 |0.495885 0.8 0:46104% 1.6 0.470033 2.4 0.492499
0.1 0.493203 0.9 0.459928 St 0.472639 2.5 0.493987
0.2 0.48752 1.0 0.458869 1.8 0.476676 2.6 0.495284
0.3 0.482795 1.1 0.459023 1.9 0.480154 2.7 0.496424
0.4 0.478179 1.2 0.459233 2.0 0.482712 2.8 0.497758
0.5 0.472276 1.3 0.461126 2.1 0.485465 2.9 0.498377
0.6 0.466327 1.4 0.46379 2.2 0.488463 3.0 0.499265
%32 2FkmT o hitend &
m d* Ll Sz ratio
m

2 1.0 0.5 0.458869 | 0.082262

3 0.7 0.333333 | 0.296983 | 0.109051

4 0.5 0.25 0.2188 |0.124801

5 0.5 0.2 0.173342 | 0.133292

6 0.4 0.166667 | 0.143603 | 0.138381

7 0.3 0.142857 | 0.122093 | 0.145352

8 0.3 0.125 |0.106356 | 0.149151

9 0.2 0.111111 | 0.094523 | 0.149291

10 0.2 0.1 0.084534 | 0.15466

17



AR

%
< e B 24 F 5 d
5 1.0 &% E-1 s izend

B eme o
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Bl RBE0.1> MYm=2%

WEF A RenkidE

EEE 0.9 APT Ldiplfm=

£ %ﬂﬁi?ﬁiﬁ e

COV(Wml,W )>o(%\» 3-3) o Em=2n3F ¢ Cov(wml,wmz
Cov (W, W,,) 57120. 85 B » & fe ik & TR cofp B 2229 )

HiEme » F{»ﬁélﬁ.ﬂ?\

% 3372 F M > Cov itaala ik ARl 2

m d" 8t Cov

2 10 0458869 0.003797
3 0.7 0.296983 | 0.006185
4 0.5 0.2188 |0.004754
5 0.5 0.173342 | 0.00852
6 0.4 0.143603 | 0.007412
7 0.3 0.122093 | 0.004637
8 0.3 0.106356 | 0.005766
9 0.2 0.094523 | 0.001792
10 0.2 0.084534 | 0.003107
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[2] Douglas C. Montgomery, Introduction to Statistical Quality Control, Fifth

Edition, Wiley, United States, 2004.
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#include <iostream>
#include <cmath>
#include <imsls.h>
using namespace std ;

#define pi (3.1415926)

#define f(x)  (exp(-(x*x)/2)/sqrt(2*pi))

#define k1(x) (static_cast<int>((x-5)/d)) [* KU i/
#define k2(y,j) (static_cast<int>((y+j*d+5)/d)+1) /* k pu =l */
#define j1(x,y) (static_cast<int>((x-y)/d)) [*jpah o
#define j2(y) (static_cast<int>((20-y)/d)) [*jpu =Rl */
FILE *out;

I1F1%#8p~ ftp & covariance

int main()

{

int J, k, d1, x1, y1,
double x, y, sum, sum_1, prod, d;  /*x=s| y=t */
out=fopen("inl.txt","w");

for (d1=0;d1<28; ++d1) { /*d fig-3.0~0.3,[H]%F 0.1 */
d=3-d1*0.1;
sum=0.0; /*pdf fi*/
sum_1=0.0; /* Cov {fi*/
/* (b-a)/fi|%: => (4-(-4))/0.01=800 » = J%ﬂfﬁ'@\'f */
[*x &y 5% 800 Tﬁ*/
for (x1=0 ; x1<=800 ; ++x1) {

X =-4+x1*0.01 ;
for (y1=0;y1<=800; ++yl) {
y =-4+y1*0.01;

[* FE] R %
for (j=jil(xy);j<=j2(y) ; ++){
if (j!1=0&& (y+j*d) >x){

prod =1.0;

I* xk+kd s FY tHjd i ok (k)

for (k= KkL1(x) ; k<=k2(y,)) ; ++k ) {

if(k!'=0 && k!'=j){
prod *=(1-

27



(imsls_d_normal_cdf( y+(j-k)*d )-imsls_d_normal_cdf( x-k*d)) );
}
b
sum += f(x)*f(y)*prod*0.0001,;
sum_1 += x*y*f(x)*f(y)*prod*0.0001 ;

¥
fprintf(out,"%IfA\t%If\t%If\n",d,sum,sum_1);
cout << d << '\t' << sum << ‘\t'<<sum_1<<'\n';

¥
return (0) ;
¥
=
L]
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— o PR
00 oooooooooo
] o @ o
[+ )
&
T o
L]
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2 o
= L]
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o]
=I
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= bl
T T T T T T
0.5 1.0 15 20 25 30
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!
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: rE

B
prod =pod*(1-ps-k<x <+ -k)d)

k=k+}
( A
-~
ssurn = saurn + pod ! st . su.m;

-
sum = surm + fz) e 0 00
suml =suml + ¥ Feenr0 0025
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#include <iostream>
#include <cmath>
#include <imsls.h>
using namespace std ;

#define pi (3.1415926)

#define f(x)  (exp(-(x*x)/2)/sqrt(2*pi))

#define k1(x) (static_cast<int>((x-5)/d)) [*RAT ™ */
#define k2(y,j) (static_cast<int>((y+j*d+5)/d)+1) /* KA1y =Rl */
#define j1(x,y) (static_cast<int>((x-y)/d)) [*jpah o
#define j2(y) (static_cast<int>((20-y)/d)) [*jpu =Rl */
FILE *out2;

int main()

{

int J, k, d1, x1, y1,i1;
double x, y, sum, prod, d, suml, sum 1; _/* X=S, y=t */

for (d1=0;d1<28 ; ++d1) { =/*d - 3.0~0.3,ft]"F 0.1 */
out2=fopen("in2.txt","w");
d=3-d1*0.1;
sum=0.0; /*pdf [fi*/
sum_1=0.0; /* Cov {fi*/
/* (b-a)/fi|%: => (4-(-4))/0.05=160 » = J?ﬂjff’@(f */
[*x &y Y 160ff§ */
for (x1=0 ; x1<=160 ; ++x1) {

X = -4+x1*0.05 ;
for (y1=0;y1<=160; ++yl) {
y = -4+y1*0.05;

[* FE] R %
for (j=jil(xy);j<=j2(y) ; ++){
if (j!1=0&& (y+j*d) >x){
sum1=0.0;
for (i1 = k1(x) ; il<=k2(y,)) ; ++il1) {
if(i11=0&&il!=j){
I* p(x<x_il+ild<y+jd) = p(x-ild<x_il<y+(j-i1)d)
= (TS XAy BRI IpoRsse =/
prod =
31



(imsls_d_normal_cdf( y+(j-i1)*d )-imsls_d_normal_cdf( x-i1*d ));

[* ikl b E[‘ xk+kd */

for (k =k1(x) ; k< k2(y,)) ; ++k) {

if(k'=0&&k!'=j&&k!=i1){

prod *=(1-
(imsls_d_normal_cdf( y+(j-k)*d )-imsls_d_normal_cdf( x-k*d)) );
b
by

suml += prod;

¥
sum += f(x)*f(y)*sum1*0.0025;

sum_1 += x*y*f(x)*f(y)*sum1*0.0025;

¥
fprintf(out2,"%d\t%If\t%If\n",d,sum,sum..1);

cout << d << '\t' << sum_1-<<'\n*;

¥
return (0) ;
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s C

F % AP MR E R SRRk ot o 20 AW o

n<-10"7

nl<-floor((n-100)/40)

x<-rnorm(n,0,1)

y<-rep(0,n)

s2<-matrix(rep(1,320), nrow = 32, ncol=10, byrow=F)

d=0.01

s2[1,1]=0.01

for(i in 1:n)

yli]<-x[i]+i*d  #ZF-

o<-order(y)

xi<-x[o]

m=2

for(min 2:10){

wl<-matrix(rep(0,2*nl), nrow = nl,-ncol=2, byrow=T)
for(k in 1:n1){

for(j in 1:m){
wl[k,1]=wl[k,1]+xi[100+40*(k-1)+j]
wl[k,2]=wl[k,2]+xi[100+m+40*(k-1)+j]

¥

¥

s2[1,m]=var(w1)[1,1]/m"2

write.table(s2, file = "C:/s2.txt",col.names = F)

}

d=0.05
s2[2,1]=0.05
for(i in 1:n)
y[i]<-x[i]+i*d
o<-order(y)
xi<-x[0]
for(min 2:10){
wl<-matrix(rep(0,2*nl), nrow = nl, ncol=2, byrow=T)
for(k in 1:n1){
for(j in 1:m){
34



wl[k,1]=wl[k,1]+xi[100+40*(k-1)+j]
wl[k,2]=wl[k,2]+xi[100+m+40*(k-1)+j]

¥

¥

s2[2,m]=var(w1)[1,1]/m"2

write.table(s2, file = "C:/s2.txt",col.names = F)

}

#d=0.1~3.0

for(dl in 1:30){

d=d1*0.1

s2[d1+2,1]=d1*0.1

for(i in 1:n)

y[i]<-x[i]+i*d

o<-order(y)

xi<-x[0]

#m (£-2~10

for(m in 2:10){

wl<-matrix(rep(0,2*nl), nrow = nl,-ncol=2, byrow=F)
for(k in 1:n1){

for(j in 1:m){
wl[k,1]=wl[k,1]+xi[100+40*(k-1)+j]
wl[k,2]=wl[k,2]+xi[100+m+40*(k-1)+j]
b

b

s2[d1+2,m]=var(w1)[1,1]/m"2
write.table(s2, file = "C:/s2.txt",col.names = F)
¥

¥

HHH R R R T R R T R
HHHHHHHHHRHERE TS UR CE Y d [l AR
HHH R R R R R R R R
M<-matrix(rep(1,36), nrow = 9, ncol=4, byrow=F)

for(min 1:9){

M[m,1]=s2[which.min(s2[,m+1]),1]

M[m,2]=min(s2[,m+1])

by
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m<-1

wl<-matrix(rep(0,2*nl), nrow = nl, ncol=2, byrow=F)
for(i in 1:n)

y[il<-x[i]+iI*M[m,1]

o<-order(y)

xi<-x[o]

for(k in 1:n1){

for(j in 1:m+1){
wl[k,1]=wl[k,1]+xi[100+40*(k-1)+j]
wl[k,2]=wl[k,2]+xi[101+m+40*(k-1)+j]

¥

b

M[m,3]<-cov(w1)[1,2]*(n1-1)/(n1*(m+1)"2)
M[m,4]<-M[m,2]/M[m,3]

write.table(M, file ="C:/m_10_7.txt",col.names = F)

for(ml in 2:9){

if(M[m1,1]'=M[m,1]){

for(i in 1:n)

y[i]<-x[i]+i*M[m1,1]

o<-order(y)

xi<-x[0]

¥

wl<-matrix(rep(0,2*nl), nrow = nl, ncol=2, byrow=T)
for(k in 1:n1){

for(j in 1:m1+1){
wl[k,1]=wl[k,1]+xi[100+40*(k-1)+j]
wl[k,2]=wl[k,2]+xi[101+m1+40*(k-1)+]]
¥

¥

M[m1,3]<-cov(wl)[1,2]*(n1-1)/(n1*(M1+1)"2)
M[m1,4]<-M[m1,2]/M[m1,3]

write.table(M, file ="C:/m_10_7.txt",col.names = F)
m<-m1

}
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HHHHHHH
HHEHHEHHEHHH T (= SN2 qéﬂl HHHBHHH TR

HHHHHHH R

for(ain 2:10){

bmp(file=paste("C:/m_", a, ".jpeg", swp=""))
plot(s2[,1],s2[,a],xlab="d",ylab="Var",main=paste("m =", a, swp=""))
points(M[a-1,1],M[a-1,2],col="red",pch=19)

text(M[a-1,1]+0.4,M[a-1,2],paste("(", M[a-1,1], ", "', round(M[a-1,2],3), ")", sep="""))
dev.off()

b

R T R R R R R i R R
HHHHHHHHHHHHHHHATRT DOWer BT TR
R T R R R R R R i R R
pow<-matrix(rep(1,108), nrow = 12, ncol=9, byrow=F)
pow<-chind(rep(1:12)*0.25,pow)

newpow<-matrix(rep(1,108), nrow = 12, ncel=9; byrow=F)
newpow<-chind(rep(1:12)*0.25,newpow)

n1<-249997

for(sin 1:12){
x<-rnorm(n,s*0.25,1)
y<-rep(0,n)

for(min 2:10){
d<-M1[m-1,1]

#if > PR
w<-rep(0,n1)

for(k in 1:n1){

for(j in 1:m){
W[K]=w[k]+x[100+40*(k-1)+j]
¥

by

w<-w/m

a=0;

for(i in 1:n1){

if( abs(w[i])> 3/sqrt(m) ) a=a+1;
¥
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for(i in 1:n)
yli]<-x[i]+i*d
o<-order(y)
xi<-x[o]

w<-rep(0,n1)

for(k in 1:n1){

for(j in 1:m){
W[K]=w[k]+xi[100+40*(k-1)+j]
¥

¥

w<-w/m

b=0;

for(i in 1:n1){

if( abs(wli])> 3*sqrt(M1[m-1,2]) ) b=b+1;
¥

#power
pow[s,m]<-a/nl
newpow([s,m]<-b/nl

}

write.table(pow, file = "C:/pow.txt",col.names = F)
write.table(newpow, file = "C:/newpow.txt",col.names = F)

}

R
HHEHHHHHHHHHHHHEH (= power Q%ﬁ' HERHEEHHE R
HHH R R R R R R R R R
for(ain 2:10){

lines(newpow[,1],newpow[,a],xlab="shift",col=4,lty=3,type="b")
legend(2.2,0.2+a*0.01,c("old","new"),col=c(2,4),lty=c(1,3))
dev.off()

by
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a5 D

W 107 B PRI F A B Rd 0 TR E AT

E

%8k
%2D-1 m=3> 2kdEsr%Eik
d S? d S? d S? d S?
001 [0.333221| 0.7 |0.296983| 1.5 |0.314656| 2.3 |0.328713
005 [0.329182| 08 |0.298402| 1.6 |0.317133| 2.4 |0.329312
01 |0323871| 09 |0.300243| 17 |0.319151| 25 [0.330083
02 [0.316649| 1.0 |0.301188| 1.8 |0.321512| 2.6 |0.331016
03 |0310324| 11 |0.303803| 19 |0.323235| 2.7 |0.331485
04 [0.305109| 1.2 0.30701 20 [0.325088| 2.8 |0.331787
05 [0.299795| 1.3 |0.309418| 2.1 |0.326379| 2.9 |0.332253
06 [0.298151| 14 |0.311769} 2.2 10.327832| 3.0 |0.333054
Oi_sZ
i im=3>d=07pS?=0.296983 5 #’] > ratio=-"— 1201091 % B
(o2
m
D2 m=4-%fdEheR ik
d S? d S? d S? d S?
001 |0.249174| 0.7 0.22116 1.5 |0.240001| 2.3 [0.247077
0.05 |0.245113| 0.8 |0.224157| 1.6 |0.241417| 2.4 |0.247577
01 [0.239839| 0.9 [0226914| 1.7 |0.242717| 25 |0.248134
02 [0.231453| 1.0 |0.229272| 1.8 0.2437 2.6 |0.248569
03 [0.225913| 1.1 |0.231673| 1.9 |0.244426| 2.7 |0.248949
04 [0.221396| 1.2 |0.234249| 2.0 0.24537 2.8 |0.249352
0.5 0.2188 1.3 |0.236114| 21 [0.245949| 2.9 |0.249475
06 [0.219622| 14 |0.238128| 2.2 0.24651 3.0 |0.249642
0;2_5;

(s
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m=4 > d=05pS2=0. 2188 % & ] > ratio=-"

(e}

2

m

=0.1248 5 B~ &



2D-3 m=5->72kdEs%Eik

d % d % d % d 2
001 |0.198687| 07 |0178261| 15 |0.193262| 23 | 0.19826
005 |0.194348] 08 |0181468| 16 | 01942 | 24 |0.198492
0.1 |0188735| 09 |0.184338| 17 0194878 25 |0.198896
02 |0181082] 10 |0186213| 18 |0.195683| 2.6 |0.199257
03 | 017624 | 11 |0188145| 19 |0.196407| 2.7 |0.199391
04 |0173647| 12 |0.189823| 20 |0.197039| 2.8 |0.199637
05 |0173342| 13 |0.190894| 21 0197524 29 |0.199668
0.6 |0175263| 1.4 | 019197 | 22 |0.197804| 3.0 |0.199802

22_32
i fam=5> d=05pFS2=0.173342 5 | » ratio=T_ = % k4 &
O
m
%2D-4 m=6->7kdiEs%R#k

d 52 d 52 d 52 d 52
001 |0.164812| 07 |0.450549| 15 -|0.162265| 23 |0.165752
005 |0.160781| 08 |0.153481{~ 16 | 016287 | 24 |0.166028
0.1 |0154809| 09 |0155369| 17 |0.163509| 2.5 |0.166222
02 | 014799 | 10 |0.156865| 18 |0.164033| 2.6 | 0.16629
0.3 |0144058| 1.1 |0158355| 1.9 | 0.1644 | 27 |0.166484
04 | 01436 | 12 |0.159456| 20 |0.164911| 28 |0.166643
0.5 | 014503 | 13 |0.160441| 21 | 01651 | 29 |0.166663
0.6 |0.147668| 14 |0.161284| 22 |0.165496| 30 | 0.16676

iz_SZ
it fm=6 d=05FF52=0143603 5 % | * ratio=" "= % B * &
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#2D-b m=7-72FkdEs%Ek

d s; d S; d s: d s?
001 |0.141214| 07 |0.131024| 15 |0.139436| 23 |0.142121
005 | 013681 | 08 | 013311 | 16 |0.139889| 24 |0.142362
0. |0131085| 09 |0.13464 | 17 |0140284| 2.5 |0.142547
02 |0124784| 10 |0135731] 18 |0.140815| 26 |0.142646
03 |0122093| 1.1 |0136871| 1.9 |0.141089| 2.7 |0.142821
04 |012201| 12 [0137796| 20 |0.141414| 28 |0.142876
05 |0125432| 13 |013829| 21 |0141662| 29 |0.142908
0.6 |0128348| 14 |0138854| 22 |0.14189| 30 |0.142947

22_32
i am=7 > d=05pFS?=0122003 5 %] > ratio=0 = %+ &
O
m
%2D-6 m=8> 72k diEs%E#k

d s? d 52 d s? d 52
001 |0.123183| 07 |0416147| 15.-0.122603| 23 | 0.1245
005 |0.119282| 08 | 011758+ 46 | 012292 | 24 |0.124612
0. |0113564| 09 |0118719| 17 |0123194| 25 | 0.12476
02 |0107584| 10 |0119505| 1.8 |0.123569| 2.6 |0.124833
03 |0106356| 1.1 |0120367| 19 |0.123855| 2.7 |0.124946
04 |0108528| 12 |0121092| 20 |0.124067| 2.8 |0.125089
05 |0411152| 13 |0121487| 21 |0124242] 29 |0.125086
06 |0113002| 14 |012202| 22 |0124389] 30 |0.125148

iz_SZ
it m=8 > d=05FFS2=0.106356 5 % | » ratio=T_ "= % H * &
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#2D-Tm=9> 72 kdEa¥d i

d 52 d 52 d 52 d 52
001 |0109122| 07 |0.104057| 15 |0.109205| 2.3 |0.110553
005 |0105129| 08 | 01051 | 1.6 | 010934 | 24 |0.110627
0.1 |0099656| 09 | 010613 | 1.7 |0109514| 25 |0.110743
0.2 |0.094523| 1.0 | 010666 | 1.8 |0.109795| 2.6 |0.110822
0.3 |0094859| 1.1 |0.107338| 1.9 |0.110005| 27 |0.110914
0.4 |0097384| 12 |0.107982| 20 |0110162| 28 |0.110942
05 |010018 | 13 |0.108358| 21 |0110275| 29 |0.110972
0.6 |0102499| 14 |0108749| 22 |0110425| 30 |0.111028

iz —§?
it am=9 > d=05pFS2=0.004523 5 % » ratio=TM =% k4 &
O
m
% D-8 m=10> % F d &% Bdic

d S120 d 8120 d S120 d S120
001 |0097984| 0.7 |0.094159| 15 -|0.098268| 2.3 |0.099579
0.05 |0094067| 0.8 |0.095089{= 16 |0.098476| 24 |0.099675
0.1 |0088678| 09 | 009592 | 1.7 |0098665| 25 |0.099789
0.2 |0084534| 1  |0096471| 18 [0098907| 26 |0.099874
03 |0085745| 1.1 |0.097016| 1.9 |0099044| 27 |0.099948
04 |0088568| 12 | 009741 | 2 [0099179| 28 |0.099975
05 |0091008| 13 |0.097693| 21 |0099237| 29 |0.099996
0.6 |0093026| 1.4 | 009792 | 22 |0099413| 3  |0.100041

iz —§?2
it m=10 > d=0.2P¥S2=0084534 % | > ratio=""— =% B X &

42




War

Var

Var

P @
B
o
= o @
S o
3
@ @
=]
< o
[=) o «
<
< k=
[
=T - o
[ @
@
(=4
— 2
:[‘_7 o
=
o (=2
o o
o )
= o
= « 4t 0459)
I I

m= 4
[
&
_ =
o ¢ a0
<
00
- = 0°
k=
(=4
<o o
a4 . o
= @
<
n =
3 @ °
o =
[an)
<
<
n o
[
S ° Ll
= «bs 0219
T T

0.0 05 1.0 15 2.0 25 3.0

m= 6
o 000000
w 0w @
— - @ @
. ¢
= o
@
<
o] @
@ | )
. 3
= <
o
Lo
L <
— - e
= o
o]
L5 o
£ 4
o
“ o
Loy
= o
y <
= o (0.4, 0.144)

I I I I I I I
0.0 05 1.0 15 2.0 25 3.0

d

D5 m=6->7%kdiEa%d i

43

War

War

War

m= 3
@
o 509 ”?
R =]
=3 e 5
o
(=2
@ B
[t} <
C")_7
= k=
o <
k=
— o
e .
<
<
k=
o 2
& o °
=1 s @
(0.7, 0297)

0.0 04 1.0 1.5 20 25 3.0

so00®

0175 0180 0185 0190 0195 0200
<

°e((15,0.173)
T T

I I I I I
0.0 04 1.0 1.5 20 25 3.0

d

B D-4 m=5>7kdiEass%d i

m=7
PR-E-R ]
00000
g]° °
— 000
fan] <
00

k= o
£ <
- 7 @
o

<
[ k= k=
o
G
o
<
Ly
L] [+
= <
o
<
+(03,0122)

I I I I I I I
0.0 04 1.0 1.5 20 25 3.0

d

BID-6 m=7 -7 FkdEs sk



Var

Var

&
— oooooooo
= o 0w @
o oo0
@
o N
I o
o
. k=
= e °
o

o o
i
=
o o o
) <
=
=
< o

@

+(0.3,0.108)

T T T T T T T
oo 05 1.0 15 20 25 30

BD-T m=8>%kdiEa%d ik

m= 10
=
‘97 Ooo°°°°°
o eow®®
P
k= @
00
<
@

Ly <
%_ @
=) o 2

<«
o 2
=]
3 -
=

@ o

Lo kel
]
= *(0.2,0085)

T T

T T T T T
oo 05 1.0 15 20 25 30

d

BID-9 m=10 > 7 kb d Ech% B #ic

44

War

m= 9
o RN
- _| 000000
=
oo ®
= @ oo
o
o
o

g <
2 e )
[ k=

@
=
= ] o
_ o
L=

)
Ly
3
2 «(0).2,0.095)

I I

I I I I I
0.0 04 1.0 1.5 20 25 3.0

d

B D-8 m=9> 72 kdiEa%P #i



s is o ApkamT €3 2 end & Fid A FREL0LDE -

4 E-1 2FmT™ > g itehd &

i E

m d” Ll Sz ratio
m

2 0.9 0.5 0.459243 | 0.081515
3 0.7 0.333333 [ 0.295135 | 0.114596
4 0.5 0.25 [0.217253 | 0.130989
5 0.5 0.2 0.171772 | 0.141139
6 04 0.166667 | 0.142592 | 0.144446
7 0.3 0.142857 | 0.121251 | 0.15124

8 0.3 0.125 |0.105711 | 0.154313
9 0.3 0.117711 0.093982 | 0.154162
10 0.2 0.1 0.084037 | 0.159628

£2E-2 2 mT o giadE
m d” it SZ ratio
m

2 1.0 0.5 0.459954 | 0.080092
3 0.7 0.333333 | 0.295766 | 0.112701
4 0.5 0.25 [0.218316 | 0.126736
5 04 0.2 0.17333 | 0.13335

6 0.4 0.166667 | 0.142999 | 0.142004
7 0.3 0.142857 | 0.121672 | 0.148299
8 0.3 0.125 | 0.10616 |0.150718
9 0.3 0.111111 | 0.094614 | 0.14847

10 0.2 0.1 0.084671 | 0.153293
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Mtk F
WAaTIBEF A B B0 DEFRIENG,)  SEER B EL-Bfch &

- fEE o

#F-1 m=2 > WHRTHERS > hieT4 23R L5
o 0.25 0.5 0.75 1.0 1.25 1.5
power | 0.004236 | 0.010884 | 0.026124 | 0.055317 | 0.108777 | 0.189466
new_power| 0.004844 | 0.01164 | 0.029268 | 0.062917 | 0.122613 | 0.212799
) 1.75 2.0 2.25 2.5 2.75 3.0
power 0.2992 |0.432457 | 0.572631 | 0.703812 | 0.813518 | 0.893751
new_power| 0.335184 | 0.478454 | 0.623283 | 0.752997 | 0.854186 | 0.921723

% F-2 m=3 > @WiToEmH  RigEd 23Tk 4 49
o 0.25 0.5 0.75 L0 1.25 1.5
power 0.0053 |0.016268 | 0.044093 | 0.100869 | 0.201926 | 0.344968
new_power| 0.00604 | 0.018172 '0:0523731 0.121897 | 0.239907 | 0.403725
o 1.75 2.0 22D 2.5 2.75 3.0
power |0.512894 | 0.67884 | 0.814962 | 0.907967 | 0.960248 | 0.98574
new_power| 0.584791 | 0.751265 | 0.87179 | 0.943703 | 0.979232 | 0.993956

#F-3 m=4 > WRTHERH > hieT4 23T L9
o 0.25 0.5 0.75 1.0 1.25 1.5
power | 0.00634 | 0.022564 | 0.066137 | 0.158462 | 0.308476 | 0.50077
newpower| 0.006996 | 0.026096 | 0.082653 | 0.19463 | 0.374444 | 0.584911
o 1.75 2.0 2.25 2.5 2.75 3.0
power | 0.690968 | 0.842882 | 0.933811 | 0.977504 | 0.993832 | 0.998684
newpower| 0.771949 | 0.901315 | 0.965452 | 0.990068 | 0.998056 | 0.99968
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2F-4 m=5> QaToEnRS 0 R 2 AT LY

o 0.25 0.5 0.75 1.0 1.25 15
power | 0.007484 | 0.029536 | 0.092301 | 0.222011 | 0.418793 | 0.639356
new_power| 0.00852 | 0.03612 | 0.117857 | 0.277599 | 0.506394 | 0.729665
o 1.75 2.0 2.25 2.5 2.75 3.0
power |0.819174|0.929643 | 0.979396 | 0.995224 | 0.99926 |0.999884
new_power| 0.887679 | 0.96512 | 0.9919 | 0.9985 |0.999852 | 0.999976
% F-5 m=6> WRTHERY > A4 2 iR LY
o 0.25 0.5 0.75 1.0 1.25 15
power | 0.008524 | 0.037152 | 0.121669 | 0.290635 | 0.52461 | 0.750417
newpower| 0.009956 | 0.045645 | 0.154518 | 0.359408 | 0.620067 | 0.833298
o 1.75 2.0 2.25 2.5 2.75 3.0
power |0.900571 | 0.971316 | 0.99426 | 0.999028 | 0.999936 | 0.999996
newpower| 0.948427 | 0.9887767 0.998376{0.999776 | 0.999984 1
#F-6 m=7 > QT oEkS o RS 23R T4 4%
1) 0.25 0.5 0.75 1.0 1.25 15
power | 0.00976 |0.046221 |0.1540747 0.36148 | 0.621115 | 0.83347
newpower| 0.011084 | 0.056685 | 0.195934 | 0.442765 | 0.717829 | 0.901775
) 1.75 2.0 2.25 2.5 2.75 3.0
power |0.948911 | 0.989108 | 0.998504 | 0.999796 | 0.999984
newpower| 0.977284 | 0.99684 | 0.999692 | 0.999984 1
% F-T m=8 > WRLTHBERY > A4 2 iRt LY
shift 0.25 0.5 0.75 1.0 1.25 15
power | 0.011112 | 0.055793| 0.18953 | 0.431401 | 0.703792 | 0.893055
newpower| 0.012744 | 0.069221 | 0.241667 | 0.523442 | 0.797386 | 0.945243
shift 1.75 2.0 2.25 2.5 2.75 3.0
power | 0.974404 | 0.996148 | 0.999688 | 0.999988 | 0.999996
newpower| 0.990652 | 0.999144 | 0.999944 1 1
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2F-8 m=9 YaTHERS RS 2 AL LY

shift 0.25 0.5 0.75 1.0 1.25 15
power |0.012332|0.066473 | 0.227043 | 0.499074 | 0.772725 | 0.933223

newpower| 0.014672 | 0.083641 | 0.288023 | 0.600579 | 0.856646 | 0.969928
shift 1.75 2.0 2.25 2.5 2.75 3.0
power | 0.988072 | 0.998616 | 0.999944 1

newpower| 0.99648 | 0.99982 |0.999984 1

% F-9 m=10 > @WAATHERFS > Rtk T4 2 ik T4 L9

shift 0.25 0.5 0.75 1 1.25 15
power |0.013584 | 0.077965 | 0.264443 | 0.563687 | 0.82941 | 0.959368

newpower| 0.01662 | 0.098953 | 0.337708 | 0.669688 | 0.903555 | 0.984664
shift 1.75 2 2.25 2.5 2.75 3
power | 0.99478 | 0.999504 | 0.999988 1 1

newpower| 0.998804 | 0.99998 1 1 1

m= 2 m=3
o ow*“’”fg o |

shift shift

WE-1 m=2- Rtk €4 2 A7k T FF-2 m=3 - Rk 24 2 374 29
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